EARAROBEEIERT — 2 N— IBISH —F

20185F8A5H (H) 2m#E4H

m LIS—KS G3 #5%3% (B (5% Ef (w8 | mEmml - |5 5 wm
[A&4] 1 7 : 40,000,000 § ~ 2 7% :16,000,000 @ . 3 7 :10,000,000 @ 4 & :6,000,000 @ 5 j& : 4,000,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
51 I 4 3 | NHEEE 1:52.0 1-1-1-1 | 37.8(105.3| 5 | 502 |HFE= (RH) o
4 K3 56.0 (=) gy | W) PFVIE—NT TR
et/ B:J5r iax—Ya BRES 455
= 42 4 = S 4t 3 | fBKth— 1:52.0 6-5-6-5 |37.4|105.2| 10 | 522 |AXfREE (RR)
15| EZRTIZE—2a 56.0 (7€) (+4) ) FEAE
Ri¥rvrvh/ExwE BETRIY4 bl &
N 3 3 | AFER 1:52.5 3-3-3-3 |38.1100.8| 9 530 | BAKAE (EHR)
s EVIRE-—F— * 560 @ () | (B) MBL—ZA-2
XL ThANAN B:RE-7>70-Uv 7 HE77—L4
N — A5l : 76— POHTTE (EBR)
4| K273 05 1% H 3 e (17.5723) 7-7-6-7 | 37.8(100.7 | 2 tz;t e
RNZ—kE21—X B:JAv&T7X-35 TAXZEy RikkEt
3 | HOHE 1:52.8 3-3-3-3 [38.4| 98.2 | 4 536 | REME (E#)
2 TIVT hR 56?)‘ (1 3/4) (+4) IOzh—gR
LT RYAYA—F BiAYZA/UTF Pelltie
7 4t 3 | C. bx—=Jb 1:53.0 15-15-11-10{ 37.9 | 96.2 | 1 478 | R (RR)
14| 7= h AL 56.0 (11/2) 4y | EFEAF=LF 42T R ()
X THANAN B:IZINMLT 2R "HEIT7—L4
4t 3 | ALHEF 1:53.3 10-10-11-13{ 38.2 | 93.6 | 11 498 | SHEBEGA (RR)
7|F/VZR 56.0 (1 3/4) (g) | B F¥rovrTr—L
Libh—trhvLARY B:TIUREZR =¥ Ty —L
4 3 | EREHHE—ER 1:53.4 2-2-2-2 | 39.1| 93.3 | 14 456 | REEERI ()
Y10/ 7OV T7XZ 56.0 (1/2) 2) |, W) TU—>Tr—4
LX:A—-I>y)> B:xupzO-UFT> HBITr—L
. N FlaEX :53. -13-14- . . REEXR (ER)
5 R4 YE 74— 3 ?6.0 1(753t;1 13-13-14-14| 38.1 | 92.7 3 (5;653) FEFI
RW—=5—=297 BV T—Ib J—=HrTp—L
N “ 43 | A 1:53.5 10-10-8-10 | 38.5 | 92.1 | 12 | 508 |/N&EE (E®R)
100 11 1 INTINY 56.0 (7E) (+4) (%) *—77—X
RL:ZAx—b77)0> B:T77Z—Xb=U— #HET77—L4
o o= — —: N AZEEN : —7-8- BB (FER)
11158 TAXINTATA X # 3 56.0 ! 1'5?::‘;5 TTEs ) 38.6) %2 6 (5_144) ?I?f")lx7f(‘/
RiN—FKRIN> B:FvUTF4—UIZb F—L— - T/t T7—LBERE
S H 4 3 | BPBE 1:53.6 7-7-8-8 |38.7| 91.3 | 7 478 | EKAE (EBR)
1259 | T>70—H%— 56.0 (7€) (-p) | FHIEE
RibhTotL K B:I>TLA2 +EHS
P # 3 | ZHE 1:53.6 3-5-3-5 [39.1| 91.6 | 8 496 | =M (SEiH)
EE 3 ’FQ’\#J"TZ 56.0 (’7t) (_2) ?IE_ig
L:d—RPY2— B:HOCtEFa1-IL =Y Tr—1I
= . = 4 3 | LHEES 1:53.9 13-13-14-14| 38.6 | 88.6 | 13 | 492 |#EE (i)
142 |12| 7T 1T 0 (1 3/4) o) | K=
R ZAZXHT R B:RTA NI —H— 735> Kiis
3. S\ — 4 3 | AWEGh 1:53.9 10-10-11-10| 38.8 | 88.8 | 15 484 | BUEER (EH)
15/ 7 |13| = v TN 56.0 (7E) (+10) () ¥5y k7>
:Z2v—bhR—a B:/0IFv> RSN T EUN
@ 21 L
£ 50.1-37.8
NAa24 L | 12.6-11.6-12.4-13.0-12.3-12.3-12.8-12.5-12.5
® 1—F—@EBIERL
13—4+— |6,10(2,3,11)15(4,9,8) (1,7,13) (5,12) 14
230—7F— |6,10(2,11)(3,15) (4,9,8) (1,7,13) (5,12) 14
== (x6,10) (2,3,11) (4,15) (1,9,8) (7,13,14) (12,5)
43—+ — (x6,10) (2,11) (3,15)4(9,8) (1,13,14)7(12,5)
[ RN
B 6 1,070 714K 6-15 6,280 e E 4-8 1,290 JEE 6-11-15 102,870M
# B 6 420M 6-11 3,340 B = 6-15 23,100M 3EE 6-15-11 671,670/
15 800H 11-15 6,310 B H 6-15 41,190M
1 600

ABICOVWTRDTEEERROODE. TR LIV,




